Whitman College

Econ 407

Exam 2

November 14, 2007

Write all answers in your blue book.  Show all of your work.  The exam ends at 2:20.

1.  Consider an economy in which checking deposits are the only kind of deposit.  Assume that the required reserve ratio is 20%, 

(a)  (4pts)   Fill in the following table so that bank A is illiquid and insolvent. 

Bank A

	Assets
	Liabilities

	Required Reserves______________
	Deposits $500,000,000

	Excess Reserves _______________
	

	One-year loans  _______________

Five-year loans  _______________

_
	Bank Capital  _______________


(b)  (4pts)   Fill in the following table so that Bank B is illiquid and solvent. 

Bank B

	Assets
	Liabilities

	Required Reserves______________
	Deposits $500,000,000

	Excess Reserves _______________
	

	One-year loans  _______________

Five-year loans  _______________

_
	Bank Capital  _______________


(c)  (4pts)   Fill in the following table so that Bank C is liquid and solvent. 

Bank C

	Assets
	Liabilities

	Required Reserves______________
	Deposits $500,000,000

	Excess Reserves _______________
	

	One-year loans  _______________

Five-year loans  _______________

_
	Bank Capital  _______________


(d)  (8pts) List liquidity management techniques available to fractional reserve banks in the United States.

2.  (a)  (5pts)  Define the moral hazard problem of Federal Deposit Insurance.

(b)  (5pts)  Explain why Federal Deposit Insurance did not cause a moral hazard problem before the 1980’s.

3.   (15pts)  Describe the role the discount rate currently plays in monetary policy.  In your explanation, refer to a graph of the supply and demand for overnight loans of excess reserves between banks in the federal funds market.  

4.    Suppose a country has a dual mandate to stabilize the price level and to stabilize fluctuations in real aggregate output.  The central bank gives the output-stabilization mandate twice the weight of the price-stabilization mandate.  They hire you as an economic adviser and ask you to describe a version of the Taylor Rule that they could use to implement their policy.  They want this Taylor Rule to exhibit the Taylor Principle.  That is, they want the nominal federal funds rate  to rise more than 1:1 with increases in the inflation rate.

(a)  (15pts) Write out an equation for this version of the Taylor Rule, and explain in words the meaning of each element of the equation.

(b)  (5pts)  Show how your Taylor Rule exhibits the Taylor Principle.  

5.  (10pts)  Until the early 1960’s Keynesians believed that monetary policy was ineffective at changing the unemployment rate or real aggregate output.  What evidence from the Great Depression did Keynesians typically cite to support their belief in the ineffectiveness of monetary policy?  

6.  (15pts)  In the 1950’s-1970’s, the Federal Reserve claimed to be using monetary policy in a countercyclical manner.  That is, the Fed claimed to be using monetary policy to moderate the swings in the business cycle.  In practice, however, the Fed attempted to maintain constant short-term interest rates through much of this period.  Suppose that we are in the short run, where Keynesians would assume that the price level is fixed.  With reference to Keynesian money demand and money supply graphs, explain whether the Fed’s policy of maintaining constant interest rates was in fact countercyclical. 

7.  (10pts)  Consider the following information about a hypothetical economy.  Between 1990 and 2007 the average annual rate of growth of real output was 2.4%, and the average inflation rate was 6.2%.  Assume the Classical Quantity Theory of money holds.  What was the average annual rate of growth of the money supply over this period?  Explain how you found your answer.

